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QUESTION 1

The following keyword was typed in exactly as shown. Choose the answer(s) that would result. All search criteria have
default settings.

A. Meth Speed

B. Speed and Meth
C. Meth

D. Speed

Correct Answer: B

QUESTION 2

Two allocated files can occupy one cluster, as long as they can both fit within the allotted number of bytes.
A. True

B. False

Correct Answer: B

QUESTION 3

In Windows 98 and ME, Internet based e-mail, such as Hotmail, will most likely be recovered in the folder.
A. C:\Windows\Online\Applications\email

B. C:\Windows\Temp

C. C:\Windows\Temporary Internet files

D. C:\Windows\History\Email

Correct Answer: C

QUESTION 4

What does the acronym BIOS stand for?
A. Basic Integrated Operating System

B. Basic Input/Output System

C. Binary Input/Output System
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D. Binary Integrated Operating System

Correct Answer: B

QUESTION 5

A hard drive has 8 sectors per cluster. File Mystuff.doc has a logical file size of 13,000 bytes. How many clusters will be
used by Mystuff.doc?

A. 4
B.1
C.3
D.2

Correct Answer: A
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